ATTACHMENT D BID PRICE SHEET

For all services described below, unless excluded by the Town in description of services below, the Town shall consider unit prices below to include all labor, equipment, fees of any kind, overhead, insurance, fuel, materials, surcharges, disposal fees, and any other costs associated with and necessary for the Bidder to perform such service. No qualifications, exemptions, or alterations of services described below will be allowed. Failure to comply will result in disqualification of bid.

A. GENERAL SERVICES

	DESCRIPTION, WITH UNIT PRICE IN WORDS. (PRICE IS INCLUSIVE OF ALL APPLICABLE TAXES AND FEES)	UNIT PRICE	ESTIMATED UNITS	EXTENDED PRICE
1.	Annual routine trimming based on tree trimming in pre-designed districts, grids or parks on a set cycle, and includes all trees (small, medium, and large-sized).	Per-tree	700 @\$105	\$ 73,500
2.	Service request tree trimming consist of trimming trees outside the grid trimming cycle. 0" - 6" 7" - 12" 13" - 18" 19" - 24" 25" and over	Per tree Per tree Per tree Per tree Per tree Per tree	3 @\$80 10 @\$105 10 @\$159 20 @\$209 10 @\$231	\$ 240 \$ 1,050 \$ 1,590 \$ 4,180 \$ 2,310
3.	Tree removal (excludes stump removal) 0" - 6" 7" - 12" 13" - 18" 19" - 24" 25" and over	Per tree Per tree Per tree Per tree	5 @\$105 15 @\$261 20 @\$574 10 @\$836 5 @\$2112	\$ 525 \$ 3,915 \$ 11,480 \$ 8,360 \$ 10,560
4.	Stump removal 0" - 6" 7" - 12" 13" - 18" 19" - 24" 25" and over	Per stump Per stump Per stump Per stump Per stump	5 @\$63 15 @\$126 20 @\$188 10 @\$251 5 @\$377	\$ 315 \$ 1,890 \$ 3,760 \$ 2,510 \$ 1,885
A.	SUB-TOTAL – GENERAL SERVICES			\$ 128,070

	Fully equipped crew as defined. Includes all labor, equipment, tool, traffic control, disposal costs, and zero material markups	UNIT PRICE	ESTIMATED UNITS	EXTENDED PRICE
	STRAIGHT TIME			
1.	4 Man crew with Equipment	Per hour	20 @\$330	\$6,600
2.	3 Man crew with Equipment	Per hour	40 `@\$248	\$9920
3.	2 Man crew with Equipment	Per hour	20 @\$165	\$3300
	OVERTIME/WEEKENDS/EMERGENCY AFTER HOURS CALL OUT			
4.	4 Man crew with Equipment	Per hour	10 @\$418	\$4180
5.	3 Man crew with Equipment	Per hour	10 @\$314	\$3140
6.	2 Man crew with Equipment	Per hour	20 @\$209	\$4180
В.	SUB-TOTAL – CREW RENTAL & EMERGENCY SERVICES	\$ 31,320		

C. OTHER COSTS

	DESCRIPTION, WITH UNIT PRICE IN WORDS. (PRICE IS INCLUSIVE OF ALL APPLICABLE TAXES AND FEES)	UNIT PRICE	ESTIMATED UNITS	EXTENDED PRICE
	Cost for crown, trees requiring trimming more than 25% of foliage at one time, or crown shaping or crown reduction.			
1.	0-6" 7-12" 13-18" 19-24" 25" and over	Per tree Per tree Per tree Per tree Per tree	3 @\$80 10 @\$105 10 @\$160 10 @\$259 20 @\$314	\$ 240 \$ 1,050 \$ 1,600 \$ 2,590 \$ 6,280
2.	Specialty equipment – 50-ton crane per hour –95-foot aerial tower per hour	Per hour Per hour	5 @\$292 15 @\$275	\$ 1,460 \$ 4,125
3.	Tree planting and installation services: (Price includes labor, equipment, root irrigation device, and staking; assume trees to be provides by the Town)			
	-15" gallon -24" box -36" box - 48" box	Per tree Per tree Per tree Per tree	40 @\$143 20 @\$309 10 @\$429 5 @\$715	\$ 5,720 \$ 6,180 \$ 4,290 \$ 3,575
4.	Arborist services & report writing per hour	Per hour	10 @\$132	\$ 1,320
5.	Tree watering per day (Assume 1 worker watering 8 hours)	Per day	40 @\$660	\$ 26,400
6.	GPS tree inventory data collection	Per tree site	14,000 @\$4	\$ 56,000
C.	SUB -TOTAL -OTHER COST GRAND TOTAL (A+B+C)			\$ 120,830 \$ 280,220

WEST CORST ARBOLISTS PAGE

ATTACHMENT D BID PRICE SHEET

For all services described below, unless excluded by the Town in description of services below, the Town shall consider unit prices below to include all labor, equipment, fees of any kind, overhead, insurance, fuel, materials, surcharges, disposal fees, and any other costs associated with and necessary for the Bidder to perform such service. No qualifications, exemptions, or alterations of services described below will be allowed. Failure to comply will result in disqualification of bid.

A. GENERAL SERVICES

	DESCRIPTION, WITH UNIT PRICE IN WORDS. (PRICE IS INCLUSIVE OF ALL APPLICABLE TAXES AND FEES)	UNIT PRICE	ESTIMATED UNITS	EXTENDED PRICE
1.	Annual routine trimming based on tree trimming in pre-designed districts, grids or parks on a set cycle, and includes all trees (small, medium, and large-sized).	Per-tree	700 @ \$145 each	\$ 101,500
	Service request tree trimming consist of trimming trees outside the grid trimming cycle.			
2.	0" – 6"	Per tree	3 @ \$145 each	\$ 435
	7" – 12"	Per tree Per tree	10@ \$275 each	\$ 2,750
	13" – 18" 19" – 24"	Per tree	20@ \$400 each	\$ 2,750 \$ 8,000
	25" and over	Per tree	10@ \$575 each	\$ 5,750
	Tree removal (excludes stump removal)			
3.	0" – 6"	Per tree	5 @ \$200 each	\$ 1,000
	7" – 12" 13" – 18"	Per tree	15@ \$975 each	\$ 14,625
	19" – 24"	Per tree	20@ \$1,700 each	
	25" and over	Per tree	10@ \$2,500 each	
			5 @ \$3,100 each	\$ 15,500
	Stump removal			
	0" – 6"	Per stump	5 @ \$175 each	\$ 875
4.	7" – 12"	Per stump	15@ \$300 each	\$ 4,500
	13" – 18"	Per stump	20@ \$300 each	\$ 6,000
	19" – 24"	Per stump	10@ \$500 each	\$ 5,000
	25" and over	Per stump	5 @ \$700 each	\$ 3,500
A.	SUB-TOTAL – GENERAL SERVICES			\$ 231,185

	Fully equipped crew as defined. Includes all labor, equipment, tool, traffic control, disposal costs, and zero material markups	UNIT PRICE	ESTIMATED UNITS	EXTENDED PRICE
	STRAIGHT TIME			
1.	4 Man crew with Equipment	Per hour	20 @ \$456/hour	\$ 9,120
2.	3 Man crew with Equipment	Per hour	40 @ \$342/hour	\$ 13,680
3.	2 Man crew with Equipment	Per hour	20 @ \$328/hour	\$ 6,560
	OVERTIME/WEEKENDS/EMERGENCY AFTER HOURS CALL OUT			
4.	4 Man crew with Equipment	Per hour	10 @ \$516/hour	\$ 5,160
5.	3 Man crew with Equipment	Per hour	10 @ \$387/hour	\$ 3,870
6.	2 Man crew with Equipment	Per hour	20 @ \$258/hour	\$ 5,160
В.	SUB-TOTAL – CREW RENTAL & EMERGENCY SERVICES	\$ 43,550		

C. OTHER COSTS

	DESCRIPTION, WITH UNIT PRICE IN WORDS. (PRICE IS INCLUSIVE OF ALL APPLICABLE TAXES AND FEES)	UNIT PRICE	ESTIMATED UNITS	EXTENDED PRICE
	Cost for crown, trees requiring trimming more than 25% of foliage at one time, or crown shaping or crown reduction.			
1.	0-6" 7-12" 13-18" 19-24" 25" and over	Per tree Per tree Per tree Per tree Per tree Per tree	3 @ \$175 each 10 @ \$275 each 10 @ \$575 each 10 @ \$575 each 20 @ \$575 each	\$ 2,750 \$ 5,750 \$ 5,750
2.	Specialty equipment – 50-ton crane per hour -95-foot aerial tower per hour	Per hour Per hour	5 @ \$200/hour 15@ \$165/hour	\$ 1,000 \$ 2,475
3.	Tree planting and installation services: (Price includes labor, equipment, root irrigation device, and staking; assume trees to be provides by the Town)			
	-15" gallon -24" box -36" box - 48" box	Per tree Per tree Per tree Per tree	40 @ \$195 each 20 @ \$345 each 10 @ \$925 each 5@ \$1,950 each	\$ 6,900 \$ 9,250
4.	Arborist services & report writing per hour	Per hour	10 @ \$175/hour	\$ 1,750
5.	Tree watering per day (Assume 1 worker watering 8 hours)	Per day	40 @ \$912/day	\$ 36,480
6.	GPS tree inventory data collection	Per tree site	14,000@ \$3/site	\$ 42,000
C.	SUB -TOTAL -OTHER COST GRAND TOTAL (A+B+C)			\$ 143,680 \$ 418,415

ATTACHMENT D BID PRICE SHEET

For all services described below, unless excluded by the Town in description of services below, the Town shall consider unit prices below to include all labor, equipment, fees of any kind, overhead, insurance, fuel, materials, surcharges, disposal fees, and any other costs associated with and necessary for the Bidder to perform such service. No qualifications, exemptions, or alterations of services described below will be allowed. Failure to comply will result in disqualification of bid.

A. GENERAL SERVICES

	DESCRIPTION, WITH UNIT PRICE IN WORDS. (PRICE IS INCLUSIVE OF ALL APPLICABLE TAXES AND FEES)	UNIT PRICE	EST UNI	TIMATED ITS	E	XTENDED PRICE
1.	Annual routine trimming based on tree trimming in pre-designed districts, grids or parks on a set cycle, and includes all trees (small, medium, and large-sized).	Per-tree	700	x155.40	\$	108,780.00
	Service request tree trimming consist of trimming trees outside the grid trimming cycle.					
2.	0" – 6"	Per tree	3	x95	\$	285.00
4.	7" – 12"	Per tree	10	x135.40	\$	1354.00 2000.80
	13"-18"	Per tree	10	x200.08	\$	5416.00
	19" – 24" 25" and over	Per tree Per tree	20	x270.80 x405.00	\$ \$	4050.00
	Tree removal (excludes stump removal)					
2	0"-6"	Per tree	5	x125.40	\$	627.00
3.	7" – 12"	Per tree	15	x312.84	\$	1992.60
	13" – 18"	Per tree	20	x688.04	\$	13760.80
	19" – 24" 25" and over	Per tree	10	x1002.20	\$	10022.00
	25 and over		5	x2534.40	\$	12972.00
	Stump removal					200
	0" – 6"	Per stump	5	x75.24	\$	376.20
4.	7"-12"	Per stump	15	x150.48	\$	2257.20
	13" – 18"	Per stump	20	x225.72	\$	451,4.40 3009.60
	19" – 24"	Per stump Per stump	10	x300.96	\$	2257.20
	25" and over	rer stump	3	x451.44	Þ	ZZ3 / .ZU
Α.	SUB-TOTAL – GENERAL SERVICES				\$	173,674.80

	Fully equipped crew as defined. Includes all labor, equipment, tool, traffic control, disposal costs, and zero material markups	UNIT PRICE	ESTIMATED UNITS	EXTENDED PRICE
	STRAIGHT TIME			
1.	4 Man crew with Equipment	Per hour	20 x540.00	10800.00
2.	3 Man crew with Equipment	Per hour	40 x405.00	16200.00
3.	2 Man crew with Equipment	Per hour	20 x270.00	5400.00
	OVERTIME/WEEKENDS/EMERGENCY AFTER HOURS CALL OUT			
4.	4 Man crew with Equipment	Per hour	10 x658.00	6580.00
5.	3 Man crew with Equipment	Per hour	10 x493.50	4935.00
6.	2 Man crew with Equipment	Per hour	20 x329.00	6580.00
B.	SUB-TOTAL – CREW RENTAL & EMERGENCY SERVICES	\$ 50495.00		

C. OTHER COSTS

	DESCRIPTION, WITH UNIT PRICE IN WORDS. (PRICE IS INCLUSIVE OF ALL APPLICABLE TAXES AND FEES)	UNIT PRICE	ESTIMATED UNITS	EXTENDED PRICE
	Cost for crown, trees requiring trimming more than 25% of foliage at one time, or crown shaping or crown reduction.			
1.	0-6" 7-12" 13-18" 19-24" 25" and over	Per tree Per tree Per tree Per tree Per tree	3 x95.04 10 x125.40 10 x191.40 10 x310.20 20 x472.50	\$ 285.12 \$ 1254.00 \$ 1914.00 \$ 3102.00 \$ 9450.00
2.	Specialty equipment – 50-ton crane per hour -95-foot aerial tower per hour	Per hour Per hour	5 x489.50 15 x330.00	\$ 2447.50 \$ 4950.00
3.	Tree planting and installation services: (Price includes labor, equipment, root irrigation device, and staking; assume trees to be provides by the Town)		0	
	-15" gallon -24" box -36" box - 48" box	Per tree Per tree Per tree Per tree	40 x171.00 20 x389.00 10 x615.00 5 x1435.00	\$ 6864.00 \$ 7780.00 \$ 6150.00 \$ 7175.00
4.	Arborist services & report writing per hour	Per hour	10 x158.4	\$ 1584.00
5.	Tree watering per day (Assume 1 worker watering 8 hours)	Per day	40 x1000.00	\$ 40000.00
6.	GPS tree inventory data collection	Per tree site	14,000 x3.96	\$ 55440.00
C.	SUB -TOTAL -OTHER COST GRAND TOTAL (A+B+C)			\$ 148,395.62 \$ 372,565.12

ATTACHMENT D BID PRICE SHEET

For all services described below, unless excluded by the Town in description of services below, the Town shall consider unit prices below to include all labor, equipment, fees of any kind, overhead, insurance, fuel, materials, surcharges, disposal fees, and any other costs associated with and necessary for the Bidder to perform such service. No qualifications, exemptions, or alterations of services described below will be allowed. Failure to comply will result in disqualification of bid.

A. GENERAL SERVICES

	DESCRIPTION, WITH UNIT PRICE IN WORDS. (PRICE IS INCLUSIVE OF ALL APPLICABLE TAXES AND FEES)	UNIT PRICE	EST	TIMATED ITS	EX'	TENDED PRICE
1.	Annual routine trimming based on tree trimming in pre-designed districts, grids or parks on a set cycle, and includes all trees (small, medium, and large-sized).	Per-tree	700	\$275	\$	192,500
	Service request tree trimming consist of trimming trees outside the grid trimming cycle.					
2.	0" - 6" 7" - 12" 13" - 18" 19" - 24" 25" and over	Per tree Per tree Per tree Per tree Per tree Per tree	3 10 10 20 10	\$245 \$275 \$375 \$450 \$575	\$ \$ \$ \$ \$	735 2,750 3,750 9,000 5,750
	Tree removal (excludes stump removal)	T CI UCC	10	φυίσ	Ψ	5,750
3.	0" - 6" 7" - 12" 13" - 18" 19" - 24" 25" and over	Per tree Per tree Per tree Per tree	5 15 20 10 5	\$100 \$450 \$800 \$1400 \$3800	\$ \$ \$ \$ \$ \$	500 6,750 16,000 14,000 19,000
4.	Stump removal 0" - 6" 7" - 12" 13" - 18" 19" - 24" 25" and over	Per stump Per stump Per stump Per stump Per stump	5 15 20 10 5	\$100 \$175 \$250 \$325 \$400	\$ \$ \$ \$ \$ \$	500 2,625 5,000 3,250 2,000
Α.	SUB-TOTAL – GENERAL SERVICES				\$	284,110

R.S. 05/15/23

	Fully equipped crew as defined. Includes all labor, equipment, tool, traffic control, disposal costs, and zero material markups	UNIT PRICE	ESTIMATEI UNITS	D EXTENDED PRICE
	STRAIGHT TIME		7	
1.	4 Man crew with Equipment	Per hour	20 \$4	00 \$8,000
2.	3 Man crew with Equipment	Per hour	40 \$30	00 \$12,000
3.	2 Man crew with Equipment	Per hour	20 \$2:	30 \$4,600
	OVERTIME/WEEKENDS/EMERGENCY AFTER HOURS CALL OUT			
4.	4 Man crew with Equipment	Per hour	10 \$50	90 \$5,000
5.	3 Man crew with Equipment	Per hour	10 \$37	5 \$3,750
6.	2 Man crew with Equipment	Per hour	20 \$25	0 \$5,000
В.	SUB-TOTAL – CREW RENTAL & EMERGENCY SERVICES	\$ 38,350		

C. OTHER COSTS

	DESCRIPTION, WITH UNIT PRICE IN WORDS. (PRICE IS INCLUSIVE OF ALL APPLICABLE TAXES AND FEES)	UNIT PRICE	ESTIMATED UNITS	EXTENDED PRICE
1.	Cost for crown, trees requiring trimming more than 25% of foliage at one time, or crown shaping or crown reduction. 0-6" 7-12" 13-18" 19-24" 25" and over	Per tree Per tree Per tree Per tree Per tree Per tree	3 \$245 10 \$450 10 \$750 10 \$1,000 20 \$1,200	\$ \$735 \$ \$4,500 \$ \$7,500 \$ \$10,000 \$ \$24,000
2.	Specialty equipment – 50-ton crane per hour –95-foot aerial tower per hour	Per hour Per hour	5 \$250 15 \$200	\$ \$1,250 \$ \$3,000
3.	Tree planting and installation services: (Price includes labor, equipment, root irrigation device, and staking; assume trees to be provides by the Town)			
	-15" gallon -24" box -36" box - 48" box	Per tree Per tree Per tree Per tree	40 \$275 20 \$550 10 \$1,400 5 \$2,750	\$ \$11,000 \$ \$11,000 \$ \$14,000 \$ \$13,750
4.	Arborist services & report writing per hour	Per hour	10 \$125	\$ \$1,250
5.	Tree watering per day (Assume 1 worker watering 8 hours)	Per day	40 \$1,250	\$ \$50,000
6.	GPS tree inventory data collection	Per tree site	14,000 \$20	\$ \$280,000
C.	SUB -TOTAL -OTHER COST GRAND TOTAL (A+B+C)			\$ \$431,985 \$ \$754,445

05/15/23 Page 37 of 38